

MULTIPLE EXISTENCE OF SOLUTIONS FOR A NONHOMOGENEOUS ELLIPTIC PROBLEMS ON \mathbb{R}^N

NORIMICHI HIRANO AND WAN SE KIM

ABSTRACT. Let $N \geq 3$, $2^* = 2N/(N - 2)$ and $p \in (2, 2^*)$. Our purpose in this paper is to consider multiple existence of solutions of problem

$$-\Delta u - \frac{\mu}{|x|^2} + \alpha u = |u|^{p-2} u + \lambda f \quad u \in H^1(\mathbb{R}^N),$$

where $a, \lambda > 0$, $\mu \in (0, (N - 2)^2/4)$, $f \in H^{-1}(\mathbb{R}^N)$, $f \geq 0$ and $f \not\equiv 0$.

1. Introduction

Let $N \geq 3$, $f \in L^2(\mathbb{R}^N)$ with $f \geq 0$ and $f \not\equiv 0$, and $p \in (2, 2^*)$, where $2^* = 2N/(N - 2)$. Nonhomogeneous problem

$$\begin{cases} -\Delta u + au = u^{p-1} + \lambda f & \text{in } \mathbb{R}^N \\ u > 0 & \text{in } \mathbb{R}^N \\ u \in H^1(\mathbb{R}^N) \end{cases} \quad (P_0)$$

has been investigated by many authors. Here $a \geq 0$ and $\lambda > 0$. On the multiple existence of solutions, Zhu[7] proved the existence of two positive solutions $u_1, u_2 \in H^1(\mathbb{R}^N)$ of problem (P) for f sufficiently small and having an exponential decay. The first solution u_1 is close to 0 and the second solution u_2 is obtained by mountain path argument. This result was improved in [4] and [5]. In [2] and [6], it was shown that there exists $M > 0$ such that for each $f \in H^{-1}(\mathbb{R}^N)$ satisfying $\|f\|_{H^{-1}} < M$, $f \geq 0$, $f \not\equiv 0$, problem (P) possesses at least two positive solutions. That is norm $\|f\|_{H^{-1}}$ determines the mountain pass structure and causes multiple existence of the solutions. It is interesting what the nature of function f affects the multiplicity of the solutions. In [2,4,5,6,8], the authors investigated that some profiles of function f cause multiplicity of the solutions.

Received July 3, 2018; Accepted July 18, 2018.

2010 *Mathematics Subject Classification.* Primary 35J60; Secondary 35J25.

Key words and phrases. Positive solutions, Semilinear Elliptic problem, Entire solutions.

This work was financially supported by Basic Science Research Program through the National Research Foundation of Korea(NRF) funded by the Ministry of Education(2018R1D1A1B07047804).

Our purpose in the present paper is to consider the multiplicity of solutions of problem

$$\begin{cases} -\Delta u - \mu \frac{u}{|x|^2} + au &= |u|^{p-2} u + \lambda f(\cdot - \eta e) & \text{in } \mathbb{R}^N \\ u &> 0 & \text{in } \mathbb{R}^N \\ u &\in H^1(\mathbb{R}^N) \end{cases} \quad (P)$$

where $0 < \mu < \bar{\mu} = (N - 2)^2 / 4$, $e \in \mathbb{R}^N$ with $|e| = 1$ and $\eta \in \mathbb{R}$. For problem (P_0) , translation of f does not give any effect to the number of solutions, i.e. problem (P_0) is equivalent to problem (P_0) with f replaced $f(\cdot - \eta e)$ for any $e \in \mathbb{R}^N$ with $|e| = 1$ and $\eta \in \mathbb{R}$. We will show, under the presence of Hardy term, the effect of the translation of f and $\|f\|_{H^{-1}(\mathbb{R}^N)}$ on the multiplicity of solutions of (P) .

Our main result is as follows:

Theorem 1.1. *There exist $\lambda_0 > 0$ and $\eta_0 > 0$ such that for each $\mu \in (0, \bar{\mu})$, the followings hold;*

- (1) *for each $\lambda \in (0, \lambda_0)$ and $\eta \in \mathbb{R}$, problem (P) has at least two solutions;*
- (2) *for each $\lambda \in (0, \lambda_0)$ and $\eta \in \mathbb{R} \setminus (-\eta_0, \eta_0)$, problem (P) has at least four solutions.*

2. Preliminaries

We denote by $B_r(x)$ the open ball in \mathbb{R}^N centered at x and radius r . For each $q \in [1, \infty]$, we denote by $|\cdot|_q$ the norm of $L^q(\mathbb{R}^N)$. For simplicity we put $H = H^1(\mathbb{R}^N)$. For $u, v \in H$, we put $\langle u, v \rangle = \int_{\mathbb{R}^N} uv \, dx$. We denote by $\|\cdot\|_0$ the norm of H defined by $\|v\|_0^2 = |\nabla v|_2^2 + a|v|_2^2$ for $v \in H$. Put $u^+ = \max\{0, u\}$ and $u^- = \min\{0, u\}$ for $u \in H$. We denote by H^+ a subset defined by

$$H^+ = \{v \in H : v^+ \not\equiv 0\}.$$

We denote by $\nabla F : H \rightarrow H$ the gradient of the functional F . First, we retrieve some known results for the homogeneous problem

$$\begin{cases} -\Delta v + av &= |v|^{p-1} v & v \in H. \\ v &> 0 & \text{on } \mathbb{R}^N. \end{cases} \quad (1)$$

We denote by $I^0 : H \rightarrow \mathbb{R}$ the functional associated with the problem (1), i.e.,

$$I^0(v) = \frac{1}{2} \|v\|_0^2 - \frac{1}{p} |v^+|_p^p \quad \text{for all } v \in H.$$

We put

$$\mathcal{M}^0 = \left\{ v \in H^1(\mathbb{R}^N) \setminus \{0\} : \|v\|_0^2 = |v^+|_p^p \right\}$$

and

$$c^0 = \inf \{ I^0(v) : v \in \mathcal{M}^0 \}.$$

It is known that problem (1) has a radial solution $U_0 \in H^1(\mathbb{R}^N) \cap C^2(\mathbb{R}^N)$. The solution U_0 is the unique positive solution up to translation on \mathbb{R}^N . Moreover U_0 is the least energy solution of (1), i.e., $I^0(U_0) = c^0$. We put $S^0 = |U_0|_p^p$.

That is $S^0 = \frac{2p}{p-1}c^0$. Let $x \in \mathbb{R}^N$. We denote by U_x the function defined by $U_x(\cdot) = U_0(\cdot - x)$. Then each U_x is a solution of problem (1).

Let $\mu \in (0, \bar{\mu})$ and put

$$\|v\|_\mu^2 = |\nabla v|_2^2 - \mu \int \frac{|v|^2}{|x|^2} \quad \text{for } v \in H^1(\mathbb{R}^N).$$

Then $\|\cdot\|_\mu$ is an equivalent norm with $\|\cdot\|_0$ (cf. [7]). It is known the homogeneous problem

$$(2) \quad \begin{aligned} -\Delta u - \mu \frac{u}{|x|^2} + au &= |u|^{p-2} u, & u \in H \\ u &> 0 & \text{on } \mathbb{R}^N \end{aligned}$$

has a unique solution V_0 . The associated functional I^μ of (2) is

$$I^\mu(v) = \frac{1}{2} \|v\|_\mu^2 - \frac{1}{p} |v^+|_p^p, \quad v \in H.$$

We put

$$\mathcal{M}^\mu = \left\{ v \in H^1(\mathbb{R}) \setminus \{0\} : \|v\|_\mu^2 = |v^+|_p^p \right\}.$$

It is obvious that $c_\mu < c_0$, where

$$c_\mu = I^\mu(V_0) = \inf \{ I^\mu(v) : v \in \mathcal{M}^\mu \}.$$

Next we define the functional associated with the problem (P) by

$$I_{\lambda,\eta}^\mu(v) = \frac{1}{2} \|v\|_\mu^2 - \frac{1}{p} |v^+|_p^p - \lambda \langle v, f(\cdot - \eta) \rangle, \quad \text{for } v \in H.$$

We also set

$$\mathcal{M}_{\lambda,\eta}^\mu = \left\{ v \in H^1(\mathbb{R}) \setminus \{0\} : \|v\|_\mu^2 = |v^+|_p^p + \lambda \langle v, f(\cdot - \eta) \rangle \right\}.$$

One can see that each nontrivial critical point is contained in $\mathcal{M}_{\lambda,\eta}^\mu$. Similarly, we put

$$I_\lambda^0(v) = \frac{1}{2} \|v\|_0^2 - \frac{1}{p} |v^+|_p^p - \lambda \langle v, f \rangle, \quad \text{for } v \in H$$

and

$$\mathcal{M}_\lambda^0 = \left\{ v \in H^1(\mathbb{R}) \setminus \{0\} : \|v\|_0^2 = |v^+|_p^p + \lambda \langle v, f \rangle \right\}.$$

One can see that each critical point $u \in H^1(\mathbb{R}^N)$ of I_λ^0 is a solution of problem

$$\begin{cases} -\Delta u + au = |u|^{p-2} u + \lambda f & \text{in } \mathbb{R}^N, \\ u > 0 \\ u \in H \end{cases}$$

For each $\lambda > 0$ and $v \in H^+$, we put

$$g_{\lambda,v}(t) = \frac{d}{dt} I_\lambda^0(tv) = t^2 \|v\|_0^2 - t^p |v|_p^p - t \langle f, v \rangle, \quad t > 0. \tag{3}$$

Then there exists $\bar{\lambda} > 0$ such that if $\lambda \in (0, \bar{\lambda})$ and $v \in H^+$, there exist $t_{\lambda, v, -}, t_{\lambda, v, +} > 0$ such that $0 < t_{\lambda, v, -} < t_{\lambda, v, +}$ and $g_{\lambda, v}(t_{\lambda, v, -}) = g_{\lambda, v}(t_{\lambda, v, +}) = 0$. That is $\mathcal{M}_\lambda^0 = \mathcal{M}_{\lambda, -}^0 \cup \mathcal{M}_{\lambda, +}^0$, where

$$\mathcal{M}_{\lambda, -}^0 = \{t_{\lambda, v, -} v : v \in H^+\} \text{ and } \mathcal{M}_{\lambda, +}^0 = \{t_{\lambda, v, +} v : v \in H^+\}.$$

One can see $I_\lambda^0(t_{\lambda, v, +} v) = \max_{t>0} I_\lambda^0(tv)$ and $I_\lambda^0(t_{\lambda, v, -} v) = \min_{0<t<t_{\lambda, v, +}} I_\lambda^0(tv)$. We also have

$$c_{\lambda, -}^0 < 0 < c_{\lambda, +}^0 < c_{\lambda, -}^0 + c_0, \tag{4}$$

where

$$c_{\lambda, +}^0 = \inf \{I_\lambda^0(v) : v \in \mathcal{M}_{\lambda, +}^0\} \text{ and } c_{\lambda, -}^0 = \inf \{I_\lambda^0(v) : v \in \mathcal{M}_{\lambda, -}^0\}$$

(cf.[2], [6]).

It follows from [5], [4] that problem (3) has solutions $u_{\lambda, +} \in \mathcal{M}_{\lambda, +}^0, u_{\lambda, -} \in \mathcal{M}_{\lambda, -}^0$ such that

$$I_\lambda^0(u_{\lambda, +}) = c_{\lambda, +}^0 \text{ and } I_\lambda^0(u_{\lambda, -}) = c_{\lambda, -}^0.$$

Lemma 2.1.

$$\limsup_{\lambda \rightarrow 0} \left\{ |v|_p : v \in \mathcal{M}_{\lambda, -}^0 \right\} = 0$$

Proof. Let $v \in \mathcal{M}^0$. Then by [5], [4] we have that for $\lambda \in (0, \bar{\lambda})$, there exists $t > 0$ such that $tv \in \mathcal{M}_{\lambda, -}^0$. From the equation

$$t^2 \|v\|_\mu^2 = t^p |v^+|_p^p + t\lambda \langle f, v \rangle,$$

one can see that $t = t_{\lambda, v, -} \rightarrow 0$ as $\lambda \rightarrow 0$. Since

$$|t(1 - t^{p-2})| = \lambda \frac{|\langle f, v \rangle|}{\|v\|_0^2} \leq \lambda \frac{\|f\|_{H^{-1}}}{\|v\|_0},$$

we have

$$|tv|_p \leq 2\lambda \frac{\|f\|_{H^{-1}} |v|_p}{\|v\|_0} \leq 2C\lambda \|f\|_{H^{-1}} \text{ for } \lambda \text{ sufficiently small,}$$

where $C > 0$ is a constant such that $|w|_p \leq C \|w\|_0$ for $w \in H$. Since $v \in H^+$ is arbitrary, the assertion follows. \square

For each $\mu \in (0, \bar{\mu}), \lambda > 0, \eta > 0$ and $v \in H^+$, we put

$$g_{\mu, \lambda, \eta, v}(t) = \frac{d}{dt} I_{\lambda, \eta}^\mu(tv) = t^2 \|v\|_0^2 - t^p |v|_p^p - t \langle f(\cdot - \eta e), v \rangle, t > 0. \tag{5}$$

Then there exists $\lambda_0 > 0$ such that if $\lambda \in (0, \lambda_0)$ and $v \in H^+$, there exist $t_{\mu, \lambda, \eta, v, -}, t_{\mu, \lambda, \eta, v, +} > 0$ (simply we write $t_{v, -}, t_{v, +}$) such that $0 < t_{v, -} < t_{v, +}$ and $g_{\mu, \lambda, \eta, v}(t_{v, -}) = g_{\mu, \lambda, \eta, v}(t_{v, +}) = 0$. That is $\mathcal{M}_{\lambda, \eta}^\mu = \mathcal{M}_{\lambda, \eta, -}^\mu \cup \mathcal{M}_{\lambda, \eta, +}^\mu$, where

$$\mathcal{M}_{\lambda, \eta, -}^\mu = \{t_{v, -} v : v \in H^+\} \text{ and } \mathcal{M}_{\lambda, \eta, +}^\mu = \{t_{v, +} v : v \in H^+\}.$$

By a slight modification of the arguments in [2] and [6], we can prove the follow theorem:

Theorem 2.2. *There exists $\lambda_0 > 0$ such that for $\lambda \in (0, \lambda_0)$ and $\mu \in (0, \bar{\mu})$,*

$$0 < c_{\lambda, \eta, +}^\mu < c_{\lambda, \eta, -}^\mu + c_0, \tag{6}$$

where

$$c_{\lambda, \eta, +}^\mu = \inf \left\{ I_{\lambda, \eta}^\mu(v) : v \in \mathcal{M}_{\lambda, \eta, +}^\mu \right\} \text{ and } c_{\lambda, \eta, -}^\mu = \inf \left\{ I_{\lambda, \eta}^\mu(v) : v \in \mathcal{M}_{\lambda, \eta, -}^\mu \right\}.$$

The proof of Theorem 2.2 is almost same as the proof for (4). Then we omit the proof. By (6), we have that for $\lambda \in (0, \lambda_0)$, $\mu \in (0, \bar{\mu})$ and $\eta \in \mathbb{R}$, there exist solutions $u_{\mu, \lambda, \eta, -}, u_{\mu, \lambda, \eta, +} \in H$ of (P) such that $I_{\lambda, \eta}^\mu(u_{\mu, \lambda, \eta, -}) = c_{\lambda, \eta, -}^\mu$ and $I_{\lambda, \eta}^\mu(u_{\mu, \lambda, \eta, +}) = c_{\lambda, \eta, +}^\mu$. We also have that (6) implies

Lemma 2.3. *For $\lambda \in (0, \lambda_0)$ and $\mu \in (0, \bar{\mu})$,*

$$\lim_{\eta \rightarrow \infty} c_{\lambda, \eta, -}^\mu = c_{\lambda, -}^0 \quad \text{and} \quad \lim_{\eta \rightarrow \infty} c_{\lambda, \eta, +}^\mu = \min \{ c_{\lambda, +}^0, c^\mu + c_{\lambda, -}^0 \}.$$

Proof. Let $\lambda \in (0, \lambda_0)$ and $\mu \in (0, \bar{\mu})$. Let $\eta > 0$ and $v_\eta \in H$ be a solution of (P). Then for given $\varphi \in C_0^1(\mathbb{R}^N)$,

$$\lim_{\eta \rightarrow \infty} \left\langle -\Delta v_\eta - \frac{\mu}{|x|^2} v_\eta - |v_\eta|^{p-2} v_\eta - f(\cdot - \eta e), \varphi \right\rangle = \lim_{\eta \rightarrow \infty} \left\langle -\Delta v_\eta - \frac{\mu}{|x|^2} v_\eta - |v_\eta|^{p-2} v_\eta, \varphi \right\rangle$$

and

$$\begin{aligned} & \lim_{\eta \rightarrow \infty} \left\langle -\Delta v_\eta - \frac{\mu}{|x|^2} v_\eta - |v_\eta|^{p-2} v_\eta - f(\cdot - \eta e), \varphi(\cdot - \eta e) \right\rangle \\ &= \lim_{\eta \rightarrow \infty} \left\langle -\Delta v_\eta - |v_\eta|^{p-2} v_\eta - f(\cdot - \eta e), \varphi(\cdot - \eta e) \right\rangle, \end{aligned}$$

we find that v_η has the form $v_\eta = v_{\eta,1} + v_{\eta,2}$, where $\lim_{\eta \rightarrow \infty} \nabla I^\mu(v_{\eta,1}) = 0$ and $\lim_{\eta \rightarrow \infty} \nabla I_\lambda^0(v_{\eta,2}(\cdot - \eta e)) = 0$. Suppose that $I_{\lambda, \eta}^\mu(v_\eta) = c_{\lambda, \eta, -}^\mu$ for $\eta > 0$. By the minimality of $c_{\lambda, \eta, -}^\mu$, we have, noting that $I^\mu(v_{\eta,1}) \geq 0$, that $\lim_{\eta \rightarrow \infty} \nabla I_{\lambda, \eta}^\mu(v_\eta) = \lim_{\eta \rightarrow \infty} \nabla I_{\lambda, \eta}^\mu(v_{\eta,2}) = c_{\lambda, -}^0$. If $I_{\lambda, \eta}^\mu(v_\eta) = c_{\lambda, \eta, +}^\mu$ for $\eta > 0$, we find that (i) $\lim_{\eta \rightarrow \infty} I^\mu(v_{\eta,1}) = 0$ and $\lim_{\eta \rightarrow \infty} \nabla I_{\lambda, \eta}^\mu(v_{\eta,2}) = c_{\lambda, +}^0$, or (ii) $\lim_{\eta \rightarrow \infty} I^\mu(v_{\eta,1}) = c^\mu$ and $\lim_{\eta \rightarrow \infty} \nabla I_{\lambda, \eta}^\mu(v_{\eta,2}) = c_{\lambda, -}^0$. Then by the definition of $c_{\lambda, \eta}^\mu$, the assertion follows. □

3. Proof of Theorem

Throughout this section, we fix $\mu \in (0, \bar{\mu})$. Let $R_0 > 0$ such that

$$\int_{B_{R_0}(0)} |U_0|^p > \frac{2}{3} S^0 \text{ and } \int_{B_{R_0}(0)} |V_\mu|^p > \frac{2}{3} \int |V_\mu|^p. \tag{7}$$

For each $v \in L^p(\mathbb{R}^N)$, we set

$$\widehat{v}(x) = \int_{B_{R_0}(x)} |v|^p \quad \text{for } x \in \mathbb{R}^N$$

and

$$\Omega(v) = \left\{ x \in \mathbb{R}^N : \widehat{v}(x) - \frac{|\widehat{v}|_\infty}{2} > 0 \right\}. \tag{8}$$

We also set

$$\beta(v) = \frac{\int_{\Omega(v)} x \left(\widehat{v}(x) - \frac{|\widehat{v}|_\infty}{2} \right)}{\int_{\Omega(v)} \left(\widehat{v}(x) - \frac{|\widehat{v}|_\infty}{2} \right)} \quad \text{for } v \in L^p(\mathbb{R}^N).$$

The mapping β is called generalized barycenter, which was introduced in [3](cf. also [1]).

By Lemma 2.1, we can choose $\lambda_0 > 0$ so small that that

$$\int |u_{\lambda,-}|^p < \frac{1}{3} \int |V_\mu|^p \quad \text{for } \lambda \in (0, \lambda_0). \tag{9}$$

Lemma 3.1. (1) *There exists $R_1 > 0$ such that*

$$\beta(s_\eta V_\mu + u_{\lambda,-}(\cdot - \eta e)) \subset B_{R_1}(0) \tag{10}$$

and

$$\beta(t_\eta(u_{\lambda,+}(\cdot - \eta e))) \subset B_{R_1}(\eta e), \tag{11}$$

where $s_\eta > 0$ such that $s_\eta(V_\mu + u_{\lambda,-}(\cdot - \eta e)) \in \mathcal{M}_{\lambda,\eta,+}^\mu$ for each $\eta > 0$, and $t_\eta > 0$ such that $t_\eta u_{\lambda,+}(\cdot - \eta e) \in \mathcal{M}_{\lambda,\eta,+}^\mu$ for $\eta > 0$.

(2) $\lim_{\eta \rightarrow \infty} I_{\lambda,\eta}^\mu(s_\eta(V_\mu + u_{\lambda,-}(\cdot - \eta e))) = c^\mu + c_{\lambda,-}^0$ and $\lim_{\eta \rightarrow \infty} I_{\lambda,\eta}^\mu(t_\eta u_{\lambda,+}(\cdot + \eta e)) = c_{\lambda,+}^0$.

Proof. Let $\lambda \in (0, \lambda_0)$. For simplicity, we put $v_\eta = u_{\lambda,-}(\cdot - \eta e)$ for $\eta > 0$. Then

$$\|s_\eta V_\mu + v_\eta\|_\eta^2 = |s_\eta V_\mu + v_\eta|_p^p + \lambda \langle f(\cdot - \eta e), s_\eta V_\mu + v_\eta \rangle \quad \text{for } \eta > 0.$$

Noting that $\inf_{\eta>0} \langle f(\cdot - \eta e), v_\mu \rangle > 0$, one can see $0 < \inf_{\eta>0} s_\eta < \sup_{\eta>0} s_\eta < \infty$. Then since $\|s_\eta V_\mu + v_\eta\|_\mu^2 - \|s_\eta V_\mu\|_\mu^2 - \|v_\eta\|_0^2 \rightarrow 0$, $|s_\eta V_\mu + v_\eta|_p^p - |s_\eta V_\mu|_p^p - |v_\eta|_p^p \rightarrow 0$ and $\langle f(\cdot - \eta e), V_\mu \rangle \rightarrow 0$, as $\eta \rightarrow \infty$,

$$\begin{aligned} & \left(\|s_\eta V_\mu\|_\mu^2 + \|v_\eta\|_0^2 \right) - \left(|s_\eta V_\mu|_p^p + |v_\eta|_p^p \right) - \lambda \langle f(\cdot - \eta e), v_\eta \rangle \\ &= s_\eta^2 \|V_\mu\|_\mu^2 - s_\eta^p |V_\mu|_p^p \rightarrow 0 \quad \text{as } \eta \rightarrow \infty. \end{aligned}$$

This implies $s_\eta \rightarrow 1$, as $\eta \rightarrow \infty$. Then by (8)

$$\left| (s_\eta \widehat{V_\mu + v_\eta})(x) \right|_\infty \geq \int_{B_{R_0}(0)} |s_\eta V_\mu + v_\eta|^p > \frac{2}{3} \int |V_\mu|^p$$

for η sufficiently large. On the other hand, we have by (9) that

$$(s_\eta \widehat{V_\mu + v_\eta})(x) = \int_{B_{R_0}(x)} |s_\eta V_\mu + v_\eta|^p < \frac{1}{3} \int |V_\mu|^p$$

for all $\eta > 0$ and $|x|$ sufficiently large. That is there exists $R > 0$ such that

$$\Omega(s_\eta V_\mu + v_\eta) \subset B_R(0) \quad \text{for } \eta \text{ sufficiently large.}$$

Then from the definition of β ,

$$\beta(s_\eta V_\mu + v_\eta) \subset B_R(0) \quad \text{for } \eta \text{ sufficiently large.}$$

Therefore by taking $R_1 > 0$ large, we obtain (10). By a parallel argument as above, we have $t_\eta \rightarrow 1$ as $\eta \rightarrow \infty$. Let $R > 0$ such that $\beta(u_{\lambda,+}) \subset B_R(0)$. Then we find

$$\beta(t_\eta u_{\lambda,+}(\cdot - \eta e)) \subset B_R(\eta e) \quad \text{for } \eta \text{ sufficiently large.}$$

Therefore again by taking $R_1 > 0$ large, we obtain (11). □

Lemma 3.2. *For each $\lambda \in (0, \lambda_0)$,*

$$\left\{ \beta(v) : v \in \mathcal{M}_{\lambda,\eta}^\mu, I_{\lambda,\eta}^\mu(v) < c^0 + c_{\lambda,\eta,-}^\mu \right\} = \mathbb{R}^N.$$

Proof. Let $\lambda \in (0, \lambda_0)$. To prove the assertion, it is sufficient to show

$$\sup_{t>0} \left\{ I_{\lambda,\eta}^\mu(tU_x + u_{\mu,\lambda,\eta,-}) \right\} < c^0 + c_{\lambda,\eta,-}^\mu \quad \text{for all } x \in \mathbb{R}^N. \tag{12}$$

Let $x \in \mathbb{R}^N$. For simplicity, we put $U = U_x$, $u = u_{\mu,\lambda,\eta,-}$ and $f_\eta = f(\cdot - \eta e)$. From the definition of $I_{\lambda,\eta}^\mu$,

$$\begin{aligned} I_{\lambda,\eta}^\mu(tU + u) &= \frac{1}{2} \|tU + u\|_\mu^2 - \frac{1}{p} (tU + u)^p - \langle f_\eta, tU + u \rangle \\ &\leq \frac{1}{2} \|tU\|_0^2 + \frac{1}{2} \|u\|_\mu^2 + \langle \nabla tU, \nabla u \rangle + a \langle tU, u \rangle - \frac{\mu}{|x|^2} \langle tU, u \rangle \\ &\quad - \frac{1}{p} (tU + u)^p - \langle f_\eta, tU + u \rangle. \end{aligned}$$

Then noting that

$$\begin{aligned} \langle \nabla tU, \nabla u \rangle + a \langle tU, u \rangle - \frac{\mu}{|x|^2} \langle tU, u \rangle - \langle f_\eta, tU \rangle &= \langle u^{p-1}, tU \rangle \\ &\leq \int_{\{u>tU\}} tU u^{p-1} + \int_{\{u \leq tU\}} (tU)^{p-1} u, \end{aligned}$$

$$\frac{1}{2} \|tU\|_0^2 - \frac{1}{p} (tU)^p \leq c^0 \text{ and } \frac{1}{2} \|u\|_\mu^2 - \frac{1}{p} u^p - \langle f_\mu, u \rangle = c_{\lambda,\eta,-}^\mu,$$

we have

$$(13) \quad I_{\lambda,\eta}^\mu(tU+u) \leq c^0 + c_{\lambda,\eta,-}^\mu + \int \left(\frac{1}{p}(tU)^p + \frac{1}{p}u^p \right) \\ + \int_{\{u>tU\}} tUu^{p-1} + \int_{\{u \leq tU\}} (tU)^{p-1}u - \frac{1}{p} \int (tU+u)^p.$$

Noting $\frac{1}{p} < \frac{p-1}{2}$, we have by Taylor expansion that

$$(14) \quad \int_{\{u>tU\}} \left(\frac{1}{p}u^p + \frac{1}{p}(tU)^p + tUu^{p-1} - \frac{1}{p}(tU+u)^p \right) \\ = \int_{\{u>tU\}} \left(\frac{1}{p}(tU)^p - \frac{p-1}{2}(\theta U + (1-\theta)u)^{p-2}(tU)^2 \right) \\ < 0$$

and

$$(15) \quad \int_{\{u<tU\}} \left(\frac{1}{p}u^p + \frac{1}{p}(tU)^p + (tU)^{p-1}u - \frac{1}{p}(tU+u)^p \right) \\ = \int_{\{u>tU\}} \left(\frac{1}{p}u^p - \frac{p-1}{2}(\theta'U + (1-\theta')u)^{p-2}u^2 \right) \\ < 0,$$

where $0 < \theta, \theta' < 1$. Then combining (13), (14) and (15), we obtain (12). \square

Lemma 3.3. *Let $\lambda \in (0, \lambda_\mu)$. Then*

$$c_\lambda^\infty = \liminf_{R \rightarrow \infty} \left\{ I_{\lambda,4Re}^\mu(v) : v \in \mathcal{M}_{\lambda,\eta,+}^\mu, \beta(v) \in B_{3R}(4Re) \setminus B_{2R}(4Re) \right\} = c^0 + c_{\lambda,-}^0.$$

Proof. By Lemma 3.2, we have $c_\lambda^\infty \leq c^0 + c_{\lambda,-}^0$. We will show $c_\lambda^\infty \geq c^0 + c_{\lambda,-}^0$. Let $\{R_n\} \subset \mathbb{R}$ and $\{u_n\} \subset \mathcal{M}_{\lambda,\eta,+}^\mu$ be sequences such that $\lim_{n \rightarrow \infty} R_n = \infty$, $\lim_{n \rightarrow \infty} I_{\lambda,4R_n}^\mu(u_n) = c^\infty$ and $\beta(u_n) \in B_{3R_n}(4R_n e) \setminus B_{2R_n}(4R_n e)$. Then by the concentrate compactness lemma, we have that there exist sequences $\{v_n\}, \{w_n\} \subset H$ such that $\lim_{n \rightarrow \infty} \|u_n - v_n - w_n\|_\mu = 0$, $\liminf_{n \rightarrow \infty} \int |v_n|^p > 0$ and $\lim_{n \rightarrow \infty} \text{dist}(\text{supp } v_n, \text{supp } w_n) = \infty$. It then follows that

$$\lim_{n \rightarrow \infty} \nabla I_{\lambda,4R_n}^\mu(v_n) = \lim_{n \rightarrow \infty} \nabla I_{\lambda,4R_n}^\mu(w_n) = 0.$$

We may assume $\lim_{n \rightarrow \infty} \text{dist}(\text{supp } v_n, 4R_n e) = \infty$. Then noting that $\lim_{n \rightarrow \infty} \langle f(\cdot - 4R_n e), v_n \rangle = 0$, we have

$$\liminf_{n \rightarrow \infty} I_{\lambda,4R_n}^\mu(v_n) = \liminf_{n \rightarrow \infty} I^\mu(v_n) \geq c^\mu.$$

If $\liminf_{n \rightarrow \infty} \int_{B_R(0)} |v_n| > 0$ for some $R > 0$, then by subtracting subsequences we have

$$v_n \rightarrow V_\mu \text{ as } n \rightarrow \infty \text{ in } L^p(\mathbb{R}^N) \quad (16)$$

and then $\lim_{n \rightarrow \infty} I_{\lambda, 4R_n}^\mu(v_n) = c^\mu$. If $\liminf_{n \rightarrow \infty} \int_{B_R(0)} |v_n| = 0$ for any $R > 0$, then again by subtracting subsequences we have that there exists a sequence $\{x_n\} \subset \mathbb{R}^N$ such that $\lim_{n \rightarrow \infty} |x_n| = \infty$ and

$$v_n - U_{x_n} \rightarrow 0 \text{ as } n \rightarrow \infty \text{ in } L^p(\mathbb{R}^N) \tag{17}$$

and then $\lim_{n \rightarrow \infty} I_{\lambda, \eta}^\mu(v_n) = c^0$. On the other hand, we have $\liminf_{n \rightarrow \infty} I_\lambda^0(w_n) \geq c_{\lambda, -}^0$.

Case 1. $\liminf_{n \rightarrow \infty} \int_{B_R(4R_n e)} |w_n| > 0$ for some $R > 0$. In this case, by subtracting subsequences, we have $w_n - u_{\lambda, -}(\cdot - 4R_n e) \rightarrow 0$ as $n \rightarrow \infty$ in $L^p(\mathbb{R}^N)$ and then $\lim_{n \rightarrow \infty} I_{\lambda, 4R_n}^\mu(w_n) = c_{\lambda, -}^0$. If $\lim_{n \rightarrow \infty} v_n = V_\mu$, we have by (7), (9) and (8) that there exists $R > 0$ such that $\Omega(u_n) \subset B_R(0)$ for n sufficiently large. Thus we find $\beta(u_n) \subset B_R(0)$ for n sufficiently large. This is a contradiction. Therefore (17) holds and then

$$\lim_{n \rightarrow \infty} I_{\lambda, 4R_n}^\mu(u_n) = \lim_{n \rightarrow \infty} I_{\lambda, 4R_n}^\mu(v_n) + \lim_{n \rightarrow \infty} I_{\lambda, 4R_n}^\mu(w_n) = c^0 + c_{\lambda, -}^0.$$

Case 2. $\liminf_{n \rightarrow \infty} \int_{B_R(4R_n e)} |w_n| = 0$ for any $R > 0$. If (16) holds, then by the definition, $\liminf_{n \rightarrow \infty} \int_{B_R(0)} |w_n| = 0$ holds for all $R > 0$. Therefore by subtracting subsequences we have that there exists a sequence $\{y_n\} \subset \mathbb{R}^N$ such that $\lim_{n \rightarrow \infty} |y_n| = \infty$ and

$$w_n - U_{y_n} \rightarrow 0 \text{ as } n \rightarrow \infty \text{ in } L^p(\mathbb{R}^N). \tag{18}$$

That is $\lim_{n \rightarrow \infty} I_{\lambda, 4R_n}^\mu(u_n) = \lim_{n \rightarrow \infty} I^\mu(v_n) + \lim_{n \rightarrow \infty} I^0(w_n) = c^\mu + c^0$. Since $c^\mu + c^0 > c^0 + c_{\lambda, -}^0$, this is a contradiction. Next, we assume that (17) holds. Then by a parallel argument as above, we obtain $\lim_{n \rightarrow \infty} I_{\lambda, 4R_n}^\mu(u_n) = \lim_{n \rightarrow \infty} I^\mu(v_n) + \lim_{n \rightarrow \infty} I^\mu(w_n) \geq c^0 + c^\mu$. This contradicts to the assumption. Thus the assertion follows. \square

Lemma 3.4. *For each $\eta > 0$,*

$$c_\eta^\infty = \liminf_{R \rightarrow \infty} \left\{ I_{\lambda, \eta}^\mu(v) : v \in \mathcal{M}_{\lambda, \eta, +}^\mu, \beta(v) \in \mathbb{R}^N \setminus B_R(0) \right\} \geq c^0 + c_{\lambda, \eta, -}^\mu. \tag{19}$$

Proof. Let $\eta > 0$. Let $\{R_n\} \subset \mathbb{R}$ and $\{u_n\} \subset \mathcal{M}_{\lambda, \eta, +}^\mu$ be sequences such that $\lim_{n \rightarrow \infty} R_n = \infty$, $\beta(u_n) \in \mathbb{R}^N \setminus B_{R_n}(0)$ and $\lim_{n \rightarrow \infty} I_{\lambda, \eta e}^\mu(u_n) = c_\eta^\infty$. Then by the concentrate compactness lemma, we have that there exist sequences $\{v_n\}, \{w_n\} \subset H$ such that $\lim_{n \rightarrow \infty} \|u_n - v_n - w_n\|_\mu = 0$, $\liminf_{n \rightarrow \infty} \int |v_n|^p > 0$ and $\lim_{n \rightarrow \infty} \text{dist}(\text{supp } v_n, \text{supp } w_n) = \infty$. It then follows that $\lim_{n \rightarrow \infty} \nabla I_{\lambda, \eta}^\mu(v_n) = \lim_{n \rightarrow \infty} \nabla I_{\lambda, \eta}^\mu(w_n) = 0$. We may assume $\lim_{n \rightarrow \infty} \text{dist}(\text{supp } v_n, 0) = \infty$. Then noting that $\lim_{n \rightarrow \infty} \langle f(\cdot - \eta e), v_n \rangle = 0$ and $\lim_{n \rightarrow \infty} (\|v_n\|_\mu - \|v_n\|_0) = 0$, we have

$\liminf_{n \rightarrow \infty} I_{\lambda, \eta}^\mu(v_n) = \liminf_{n \rightarrow \infty} I^0(v_n) = c^0$. On the other hand, we have $\liminf_{n \rightarrow \infty} I_\lambda^0(w_n) \geq c_{\lambda, \eta, -}^0$. Therefore

$$\lim_{n \rightarrow \infty} I_{\lambda, \eta}^\mu(u_n) = \lim_{n \rightarrow \infty} I_{\lambda, \eta}^\mu(v_n) + \lim_{n \rightarrow \infty} I_{\lambda, \eta}^\mu(w_n) \geq c^0 + c_{\lambda, \eta, -}^0.$$

This completes the proof. \square

Proof of Theorem First, we choose $c > 0$ such that

$$\max \{c^\mu + c_{\lambda, -}^0, c_{\lambda, +}^0\} < c < c^0 + c_{\lambda, -}^0.$$

Then by Lemma 3.1, Lemma 3.3 and Lemma 3.4, we can choose η so large that

$$\inf \left\{ I_{\lambda, \eta}^\mu(v) : v \in \mathcal{M}_{\lambda, \eta, +}^\mu, \beta(v) \subset B_{R_1}(0) \right\} < c, \quad (20)$$

$$\inf \left\{ I_{\lambda, \eta}^\mu(v) : v \in \mathcal{M}_{\lambda, \eta, +}^\mu, \beta(v) \subset B_{R_1}(\eta e) \right\} < c, \quad (21)$$

$$\inf \left\{ I_{\lambda, \eta}^\mu(v) : v \in \mathcal{M}_{\lambda, \eta, +}^\mu, \beta(v) \subset B_{3\eta/4}(\eta e) \setminus B_{\eta/2}(\eta e) \right\} > c \quad (22)$$

and

$$\inf \left\{ I_{\lambda, \eta}^\mu(v) : v \in \mathcal{M}_{\lambda, \eta, +}^\mu, \beta(v) \subset \mathbb{R}^N \setminus B_{2\eta}(0) \right\} > c. \quad (23)$$

Then by (20), (22) and (23), there exists $u_1 \in \mathcal{M}_{\lambda, \eta, +}^\mu$ such that

$$I_{\lambda, \eta}^\mu(u_1) = \inf \left\{ I_{\lambda, \eta}^\mu(v) : v \in \mathcal{M}_{\lambda, \eta, +}^\mu, \beta(v) \subset B_{2\eta}(0) \setminus B_{3\eta/4}(\eta e) \right\}. \quad (24)$$

While by (21) and (22), there exists $u_2 \in \mathcal{M}_{\lambda, \eta, +}^\mu$ such that

$$I_{\lambda, \eta}^\mu(u_2) = \inf \left\{ I_{\lambda, \eta}^\mu(v) : v \in \mathcal{M}_{\lambda, \eta, +}^\mu, \beta(v) \subset B_{\eta/2}(\eta e) \right\}. \quad (25)$$

Next we set

$$M = \left\{ \rho \in C([0, 1]; \mathcal{M}_{\lambda, \eta, +}^\mu) : \rho(0) = u_1, \rho(1) = u_2 \right\}$$

and

$$c_m = \min_{\rho \in M} \max_{t \in [0, 1]} I_{\lambda, \eta}^\mu(\rho(t)).$$

By Lemma 3.2 and (22), we have $c < c_m < c^0 + c_{\lambda, \eta, -}^\mu$. Then noting (19) holds, we have by a mountain pass argument that there exists a critical point $u_3 \in \mathcal{M}_{\lambda, \eta, +}^\mu$ of $I_{\lambda, \eta}^\mu$ such that $I_{\lambda, \eta}^\mu(u_3) = c_m$. On the other hand, we already know by Theorem 2.2 that there exists a solution $u_0 \in \mathcal{M}_{\lambda, \eta, -}^\mu$ of (P). Therefore we find problem (P) has at least four solutions $u_0, u_1, u_2, u_3 \in H$ as claimed.

References

- [1] A. Name, *Title of a paper*, Math. Sci. Res. Inst. Publ. **5**, Springer-Verlag, New York, 2000.
- [2] ———, *Title of a paper*, J. Math. **1** (2008), no. 1, 10–12.
- [3] A. Name, B. C. Name, and D. Name, *Title of a paper*, J. Math. (2008), no. 1, 10-13.
- [4] T. Bartsch and T. Weth *Three nodal solutions of singularly perturbed elliptic equations on domain without topology*, Ann. Inst. H. Poincaré Anal. Non Linéaire, **22**(2005), 259-281
- [5] D. Cao and H. Zhu, *Multiple Positive Solutions of for an inhomogeneous semilinear elliptic equation in R^n* , Proc. Roy. Soc. Edinburgh. **126** (1996), 443-464
- [6] G. Cerami and D. Passaseo, *The effect of concentrating potentials in some singularly perturbed problems*, Calc. Var., 17(2003), 257-281 *An inhomogeneous semilinear equation in entire space* J. Differential Equations **125**(1996) 184-214
- [7] Y. Deng and Y. Li *Existence of multiple positive solutions for a semilinear elliptic equation* Advances in Differential Equations **2**(1997), 361-382
- [8] N. Hirano *Existence of entire positive solutions for non homogeneous elliptic equations* Nonlinear Analysis TMA **29**(1997), 889-901
- [9] X. Zhu *A Perturbation result on positive entire solutions of a semilinear elliptic equation* J. Diff. Equations **92**(1991), 163-178

NORIMICHI HIRANO

DEPARTMENT OF MATHEMATICS FACULTY OF ENGINEERING YOKOHAMA NATIONAL UNIVERSITY TOKIWADAI, HODOGAYAKU, YOKOHAMA, JAPAN

E-mail address: hira0918@ynu.ac.jp

WAN SE KIM

DEPARTMENT OF MATHEMATICS, RESEARCH INSTITUTE FOR NATURAL SCIENCES, HANYANG UNIVERSITY SEOUL 133-791, KOREA

E-mail address: wanskim@hanyang.ac.kr